Chicken
IPv6
1) When an IPv4 computer receives an IPv6 packet, what happens?

     a) IPv6 is backwards compatible with IPv4, and the computer should understand it.

     b) IPv6 is partially backwards compatible.  The receiving computer should understand parts of it.

     c) IPv6 is not backwards compatible.  The receiving computer will not understand it.

2) List a field that is in an IPv4 header but not in an IPv6 header and WHY WAS IT DROPPED?

PCAP
1) I have captured an ethernet packet.  I know that it contains an IP packet within it, and a ICMP packet within that.  I want the 'type' field of the ICMP packet.  Write the line that would follow the capturer as shown below.  (Hint:  Google)

      char *packet = pcap_next(fd, header).

Routing
1) (Yes/No) The best route from you (AS#1) to the the destination (AS#10) is

    AS#1 → AS#2 → AS #3 → AS #10.  

Then the link between AS#2 and AS #3 gets cut.  Now the best route is 

     AS#1 → AS #2 → AS#4 → AS #5 → AS#10.  

In both cases you just forward your traffic for AS #10 to AS #2.  Does AS #2 bother to tell you of the change?

2) Name one assumption that BGP makes that is false in the real world.

RMI
1) Suppose I call an remote method giving the head of a linked list as an argument.  What does the receiver get?

   a) You cannot do this; it won't compile

   b) The first node of the linked list

   c) The entire linked list

   d) A runtime error.

   e) Something else

2) I have an RMI client and server.  They are talking and everything is great.  Then the rmiregistry program quits.  What happens to my client and server

   a) RemoteException

   b) Some other run time error

   c) Nothing.  It's all good.

3) What is a callback? 

   a) When the client makes a method call upon the remote object. 

   b) When a remote object make a method call upon the server. 

   c) Fingerprints

   d) When a remote object makes a call upon one of it's own methods

    e) When a remote object makes a call on the client.

    f) None or more than one of the above.

MPI
1) MPI is designed to work

   a) On machines connected via a network

   b) On machines with shared memory.

   c) On both

   d) On chickens.

2) On my computer, I have 3 cores.  My program parallelizes well.  Which is likely fastest?

   mpirun -np 1 ./it

   mpirun -np 3 ./it

   mpirun -np 30 ./it

Signals
 1) Beyond, I/O, name one thing that generates a signal (signal like we used in the compute pi program).

NFS and Samba
1) Is 'read the first 1K bytes of the file' an idempotent operation?

2) What is an advantage of a file sharing scheme where the clients have caches?

3) What is a disadvantage of a file sharing scheme where the clients can have read and write caches without coordinating these caches with the server?

Threads
1) (Yes/No) Suppose a program has two threads.  One thread calls socket().  Can the other thread use the socket?

2) What will this code print?

	int a = 1;

main()

   ….
  thread_create(&aThread, NULL, MyThreadFunc, NULL);

  thread_join(&aThread, NULL);

  thread_create(&aThread2, NULL, MyThreadFunc, NULL);

  thread_join(&aThread2, NULL);

….

void *MyThreadFunc(void *arg) {

    cout << a << endl;

    a = 2;

}



Crypt
1) How does Chrome know the public key for Verisign, a very popular certificate authority?

2) How does Chrome know the public key used by www.chicken.com when it uses SSL?

3) (True/False) One of the design goals of SSL is to stop the man in the middle from knowing to whom you connect.  For example,  Charter should not be able to tell if I connect to chicken.com from my house.

4)  In normal https like I engage with when giving www.amazon.com my credit card number, who has gives the other side a certificate?


a) Client (me)      b) Server (Amazon)     c) Both    d) Neither

Misc
1) About approximately give-or-take how long does it take for a packet on the real internet to travel from start to destination?

  a) 10 microsecond

  b) 10 milliseconds

  c) 10 seconds

2) What is the longest it take take for an ethernet packet to get from one host to another across a single segment?  Assume no hardware failures.

3) I want to send a one byte TCP message.  Including startup and shutdown, how many packets are needed?

